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Paper 2 Question 10 Maths SCOt ”

Part of the graph of y =acosx’+b is shown below.

}!
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(a) Explain how you can tell from the graph thata =3 and b = —1. 2

(b) Calculate the x-coordinates of the points where the graph cuts the x-axis. 4

Answers:

(a) a = 3 because 2 — (-4) = 6, which is 3 x (1 —(-1)).
b = —1 because the graph of y = 3 cos x has been moved down 1.

(b) 70-5°, 289-5°
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Question 10 MGthS SCOt ”

The graph of y=asin(x+5)°, 0<x <360, is shown below.
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Write down the values of a and b. 2

Answers:

a=3
b =-40
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Question 6 MGthS SCOt ”

Part of the graph of y = asinbx® is shown in the diagram.
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State the values of ¢ and 5.

Answers:
a=4
b=3
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Question 9 MGthS SCOt ”

Write the following in order of size starting with the smallest.
cos 90° cos 100° cos 300°

Justify your answer.

Answer:

cos 100°, cos 90°, cos 300°
The justification should use either the ASTC quadrant diagram or the graph of y = cos x.

This resource is free to distribute and use on a non-commercial basis. Visit Maths.scot for notes and worked examples for every National 5 Maths topic.


https://www.maths.scot/

National 5 Maths National 5 Maths ,
SQA 2018 Paper 1

Question 6 MGthS SCOt ”

Part of the graph of y=acosbx® is shown in the diagram.
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State the values of @ and b.

Answers:
a=5
b=4
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Question 13 MGthS SCOt ”
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Part of the graph of y =3cos(x+45)° is shown in the diagram.
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The graph has a minimum turning point at A.

State the coordinates of A. 2

Answer:

(135, -3)
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Question 13 MGthS SCOt ”
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The graph of y=acosx” +b, 0 < x <360, is shown.

a\—
)
o) |

D I I I
90 180 270 3

State the values of ¢ and b. 2

Answers:
a=2
b=3
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Question 16 MGthS SCOt ”

The function f(x)is defined by f(x)=4sin3x".
Evaluate f(90).

Answer:

—4
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Question 8 MGthS SCOt ”

Part of the graph of y = asinbx” is shown in the diagram.
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(a) State the value of a. 1
(b) State the value of b. 1

Answers:
(a) =3
(b) b=8
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Question 13 MGthS SCOt ”

Part of the graph of y =cos(x+a)°+ b is shown.
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(a) State the value of a. 1
(b) State the value of 5. 1
Answers:
(a) a = —30 (or 330)
(b) b=1
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